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Question: 1

Your company’s network consists of your headquarters location plus several dozen remote offices.
Remote office users are often unable to access data housed in the headquarters data center due to
connectivity issues. You must update the network to provide reliable access to corporate assets for
remote office users.
Which technology is critical to your design project?

A. IPsec
B. WAN acceleration
C. WAN aggregation
D. QoS

Answer: A

Question: 2

What is a feature provided by devices in the WAN aggregation site of a large enterprise WAN
deployment?

A. Internet gateway
B. MACsec
C. power redundancy
D. DHCP

Answer: A

Question: 3

Which two groups within the IT organization will likely need training if a new type of network
equipment is deployed throughout the enterprise? (Choose two.)

A. application development
B. systems administrators
C. network engineering
D. network operations

Answer: C, D

Question: 4

You want to use standard cabling instead of crossover cabling in an environment without MDIX.
In which two situations would this apply? (Choose two.)
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A. server-to-switch
B. computer-to-switch
C. computer-to-computer
D. switch-to-switch

Answer: A, B

Question: 5

What are three use cases for Data Center Interconnect? (Choose three.)

A. security
B. Layer 2 extension
C. disaster recovery
D. geoclustering
E. ease of management

Answer: B, C, E

Question: 6

Your customer is a government organization with strict security requirements. They want to expand
their Layer 2 infrastructure between multiple buildings within the same campus environment. They
also want to ensure that no unauthorized devices are connected between the switches in the
different buildings.
Which solution ensures data security in this environment?

A. Use PNAC on all inter-switch connections.
B. Use LLDP on all inter-switch connections.
C. Use LACP on all inter-switch connections.
D. Use MACsec on all inter-switch connections.

Answer: A

Question: 7

What are two tiers used in a traditional data center design? (Choose two.)

A. core
B. aggregation
C. compute
D. user

Answer: A, B
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